

IM3: Review of Solving

Solve by factoring.

$$1. x^2 - 5x - 36 = 0$$

$$(x-9)(x+4) = 0$$

$$x=9 \quad x=-4$$

$$2. 3x^2 + 14x - 5 = 0$$

$$(3x-1)(x+5) = 0$$

$$x=\frac{1}{3} \quad x=-5$$

$$3. 4x^2 - 49 = 0$$

$$(2x-7)(2x+7) = 0$$

$$x=\frac{7}{2} \quad x=-\frac{7}{2}$$

$$4. 2x^2 - 9x = -9$$

$$(2x-3)(x-3) = 0$$

$$x=\frac{3}{2} \quad x=3$$

$$5. x^2 - 100 = 0$$

$$(x-10)(x+10) = 0$$

$$x=10 \quad x=-10$$

$$6. 6x^2 + 13x - 5 = 0$$

$$(3x-1)(2x+5) = 0$$

$$x=\frac{1}{3} \quad x=-\frac{5}{2}$$

Solve each quadratic equation by Factoring, Using Square Roots, or the Quadratic Formula.

$$7. x^2 - 64 = 0$$

$$(x-8)(x+8) = 0$$

$$x=8 \quad x=-8$$

$$8. 8x^2 - 2x - 18 = -15$$

$$8x^2 - 2x - 3 = 0$$

$$(2x+1)(4x-3) = 0$$

$$x=-\frac{1}{2} \quad x=\frac{3}{4}$$

$$9. x^2 + 3x = 40$$

$$x^2 + 3x - 40 = 0$$

$$(x+8)(x-5) = 0$$

$$x=-8 \quad x=5$$

$$10. 2x^2 + 3x + 1 = 0$$

$$(2x+1)(x+1) = 0$$

$$x=-\frac{1}{2} \quad x=-1$$

$$11. 2x^2 - 6 = -x$$

$$2x^2 + x - 6 = 0$$

$$(2x-3)(x+2) = 0$$

$$x=\frac{3}{2} \quad x=-2$$

$$12. 3x^2 + 6x - 42 = 0$$

$$x = \frac{-6 \pm \sqrt{36 - 4(3)(-42)}}{2(3)}$$

$$x = \frac{-6 \pm \sqrt{540}}{6}$$

$$x = -6 \pm \sqrt{15} \quad x = -1 \pm \sqrt{15}$$

$$13. (x-3)^2 + 7 = 39$$

$$(x-3)^2 = 32$$

$$x-3 = \pm \sqrt{32}$$

$$x-3 = \pm 4\sqrt{2}$$

$$x = 3 \pm 4\sqrt{2}$$

$$14. 5 + 6x^2 = 113$$

$$6x^2 = 108$$

$$x^2 = 18$$

$$x = \pm \sqrt{18}$$

$$x = \pm 3\sqrt{2}$$

$$15. (x-5)^2 = 81$$

$$x-5 = \pm 9$$

$$x-5 = 9 \quad x-5 = -9$$

$$x=14 \quad x=-4$$

